
HOMEWORK A5SI6NMENT #1O ORGANIC CHEMISTRY I (21 pts)
Due Mondoy 7 ùece
Your nome:

10.1 Notural Selection (7 pts totol/l pt eoch)
Write down the most likely product orising out of the following reoctions:
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homework sct #8 organic chenristry alfied state (continued)

10.2 Clossy Thinking (1 point eoch/5 po¡nts totol)

There are 4 major classifìcations of alkene reactions: carbocation (C+); bridgehead (halonium) cation
(Br+); radical (RAD) and organometallic/redox (O/R).

Clossify the following chorocteristics os to which closs or closses of røoction thøy foll under:

1) Adds anti-morkovnikoff ocross the doubl¿ bond/[?"¿ ( crlR)
HzSOq (reflux)

2) high concentrotion of (CH)zC=CH? 

-
C+-v r

3) Reoction used to moke90% of the isopropyl olcohol on the plonet

C+
4) Adds onti in non-ogueous medio

f3 r+
5) Rearrongements are common ond ocid is o must
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10.3 ClossÍc Orgonic structure onolys¡s
o) Whqt is the structure of the hydrocorbon
eguivolent of Hz ond yields ony the compound
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(9 pts)
(coll him Ben) thot obsorbs one molor
butonediol below of ter ozonolysís:

CHo
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.)-'r/y" Ben= 3 pts

b) An unknown hydrocorbon (coll her Sweetre) reacts with 1 molor eguivolent of Hz over
Pt. It olso reocts with OsOc to yíeld o syn díol. Ozonolysis followed by treotment with
Zn/H+ produces two compounds: X ond Y. When Sweetie ís reocted wíth Brz in wet CClc

she becomes Dolly. When Sweetie is exposed to diazomethone over Cu with líght,she
becomes Bobbíe. Supply the structures of Sweetie, Dolly ond Bobbie .
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